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Question 6

Write down an expression in terms of commutation functions for the expected present

value of each of the following products for a life aged 65, and evaluate your expression
using the basis indicated.

(a) A 12 year temporary assurance where the sum assured is £2,000 and is payable at
the end of the year of death.

Amoz
[Basis: iS4, ultimate at 4% per annum]

(b) A 16 year temporary annuity-due paying £1,000 pa for the first 9 years and £1,500
for the remaining 7 years. Payments are made annually in advance.

[Basis: 7SRl ultimate at 4% pa]
Prap92c2o
[9 marks]

Question 7

An annuity of £2,500 pa is payable annually in arrears to a life aged 67 for a maximum of
3 years, ceasing on earlier death.

PFA92.C 20y
Calculate the standard deviation of the present value of the annuxty, using siREEE

ultimate mortality, and interest at 9.5% pa

[7 marks]
Question 8
AMm72 fq_
Evaluate the following expected present values, using A28 mortality at h
interest: /\
® Gy
() Zss:l?‘
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